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7. T ¥rea o for et areert frafafad AR HAEr § 2
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8. Frforfaa i & i o ac TE e ?
CINCICY
9. Ferdd ¥ foehe o waterer=h 7w el TE & 2
wrefer - aTvge
10. F=fafea o qem A RTHIE 2
bl
11, frefafea § § e & agHa SR AR ?
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13. mﬁmﬁwmm%?
EEE-}T,W,@H %
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faforat

15. “HUEHT Wel Toht @I’ Wwaﬁﬁm%i@aﬁﬁﬁm%?
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16. B Wa:r‘éﬁ%mﬁwﬁ%wam‘r
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)
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32. SAueRH g (6 e o R Ul 1)
arat-oet hY TG et Y Bl U gehgt wheeh i F wieferm aheen oy s feran
SIGIES
33,  “SIeT GREIOr kT W wHTe-fu I anr A B
STET ThT WTETUT - ACTEY THH
34, 3 Y3~ B ot ool § —
T, |
35, Frefftaa § & o o AT/ T wurE s a2
WA et
36, feforiaa o & forg shfar i e wT ST T & 2
Afreftoror 0 e
37, HREC § e R A S A €7 A
Yweie Axgos ™
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46.

feperferfiea 3 & i wr wft-frede we ©
weaR = 7Yy + 3T

47.

forerferfiaa  STaTeT TR st ST foRw ferehed o e gRT ® 2
st wR AT E |

48.

W fore e o1 (farrfe) g Bl € 2
G EIHE)

49,

“GHSIAT Y8 H shi< |1 I3 T § ?
aftar

50.

foreferfaa # & <eafdy wroq w1 foriiv w1es @ 81T 2

"r-2/Part-2 )
Hml:rgﬁaqﬂm / General Intellig.lé})gé{'-l"-é.st

51.

781 ST 35 . T Y WESIT SAYC ) 78 S STepRel 8 &1 Serehr e |

?

X e . -f{.!"‘

Identify ,t_he' missing paijc- of the question figure and select it from given answer figures.

Question Figure

Answer Figures




9T (. ©. 52-53) e Few g sy 7 e e o e ¥ ek e w6 oTgH g Q& | ATl IR <
vigef 7 wedieh SR Y ST W Site N St it Swht werar A Sraerar i et @@ el gl | R
TR TS TR o Higerai 3 o1 31Rres USHTR o STeret i shi ot 3T foma § | wfgernstt & fog
3t arferen sifdreor gerenail o g wft srne g s e @ifes 3 @mRid sk firet ek | 9%
afterrall =t atrenfit s o forg wrentt g1 are € # fore g Aifcere Sue & srgwr § R | gl T8
Tt st wister &, Tt & Foroar derer 3 Raens Sewrar st v e o6 fore v ma ¥ | wfee st &
e T e T +ft g & et fohn ST, g e e R | '

wfereradt 3 siver st Seer 3 fore St T o st gfom fR s € 1

Direction (Q. No. 52-53) : In question below is given a passage followed by éeyer-;e_;_l inferences.
You have to examine each inference separately in the context of the passage and d_é-cide upon its
degree of truth or falsity. '

The Government of India has urged the State Governments to create ‘more job opportunities for
women. All out efforts are to be made to have more training facﬂltles for'women so that they can be
gainfully employed. It is in pursuance of the recent policy dtj_:c_lslons taken by the Government to
make women self-reliant. The states have been asked to'end discrimination against the fair sex so
far new jobs are concerned. The same wage for women workers should also be strictly adhered to,
it has been emphasized.

More job opportunities are being created for women.to eradicate poverty among them.

52. W i 0 AT & wleenail H Frh R |
af¥ aaent wTar & fR et Srgnty € arh, R Ty aent & ot wg TH wE wend
%%sznmgﬁﬁrﬂm%mqﬁl

The women have been beneﬁted much w1th this government policy.

if you think the data are madequate i.e., from the facts given you cannot say
whether theanference is likely to be true or false.

53, TRRaTaT Y AT s 3 e Test oy g F arfer 3o far s =i |
afy sgent @rar § B egae P v @ s 3, srata ww R o e
T e Wl

Women should be given higher wages than men to make them self-reliant.

/ W 1

Cif you think the inference is ‘definitely false’ i.e., it contradicts the given facts.

-54 ﬁqnqma‘rﬁaﬁﬁaﬁnﬁaa&%ﬁ
1 T AT 2. Teefialt 3. fedem 4, T 5 USAIRK

24153

Arrange the given words in the meaning-ful sequence :

1. Runout 2, | Delivery 3. Decision 4. Shot 5. Third Umpire
24153
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55.

ﬁmi%ﬁaﬁﬁﬁﬁqmwaﬁwmmﬂﬁwmﬁaﬁaﬂﬁgwﬁm&%ﬁmm?

1. Arrangement 2. Arrogant 3.  Arrest 4. Arrival 5. Arrears
Arrears

Which of the following words will come at second position if all the words are arranged
alphabetically ?

1. Arrangement 2. Arrogant 3. Arrest 4. Arrival 5. Arrears
Arrears '
56.  IET B WINT & ST Fo Wod RUMCE -

agnoscrenia 3T 319 & poisonous spider &
delanocrenia T 37 § poisonous snake agnosdeery 1 319} & brown splder :
forr w1eg 1 37ef “black widow spider” B GehaT & 2

agnosvitriblunin
Here are some words translated from an artificial language
agnoscrenia means poisonous spider
delanocrenia means poisonous snake
agnosdeery means brown spider .
Which word could mean “black widow splder” ? N
agnoswtnblunm

57.

myncabel T :ﬂvf% s horsg!
conowir T 379 ® trail ride X N
cabelcono T 3 § h 0 w. traﬂ )y 4
ot w1og T a1ef “horse nde" ‘5’} WT 29

cabelww
Here are some words tnanslated from an artificial language :
myncabel means saddle horse
conowir means: traﬂ ride
cabelcono means horse trail

‘Whlch word could mean “horse ride” ?

capelwnr

:\58',-1.;?48:-.'@% Q, R 3T S dTel T TR oh S & F STHehrt FfeTiia & | P oh sk T & 39

SR 2T ¥ Q P TR Y | R, Qe H & | o R T et 1 oA R

S
Following are some information about a family consisting of 4 members P, Q, R and S. P is an
adult male and has 2 children. Q is the son-in-law of P. R is Q’s brother-in-law. There is Jjust one
couple in the family. Who is the daughter of P ?

S

7 NN4
3




50. % 3T ITTRFT TG IO ST 77 3TThfer 7w © |
T AT

Find out that answer figure which is embedded in the question ﬁgure,_"' :

Question Figure A,
myA

Answer Figures

&

60. 31 TS SR STTRTeRIT # © T mﬁraﬁmﬁaﬁgﬁﬁmgﬁl

ey

Cho;qs  the qprrebt water image of the question figure, from the given answer figures.
Quéﬁipd Fggure

A
)

Answer Figures

Y

NN4 8 (g




61.

afe pepr o+ ®
QT A’A x §
R &1 7ol + §
S a1 a7 - 8
@W45Q30P10R12S I5H A R E ?
132
If P denotes +
Q denotes X
R denotes +
S denotes —
Then what is the value of 45 Q30 P 10R 12S 157
132 ;

62.

A+ T 31°f T, *— ot 37 97T, “x <7 97ef g ST 0" IO | ST GATIAT 6 AW
T 22-+18-3%>5 ST AT 1 & 2 & -

-8 .
If “+’> means subtraction, ‘" means division, ‘x’ means addmon and ‘%’ means multiplication.

Based on these information what is the value of 22+I 8—3%5 P,
-8

63.

ﬁm%ﬁgaw%wuwﬁﬂwﬁqw%lméamﬁm%mﬁwmwﬁﬁm

Teh (@i ATE ¥ T 84, mé@%%%%ﬁaﬁm%a‘réﬁ@ﬁwmnﬁmﬂr% 3T
aﬂrﬁﬁﬁﬁﬁrﬁwﬁ@ﬁaﬁtﬁ%ﬁaﬁ?mm%aﬁﬁmaﬁaﬁﬁaﬁ
uﬁamﬁmmm‘@n ™ S

To the following questlon four probable answers have been given. Select the most
appropriate alternative'as the answer.
While passing through & tailway line, you notice that two trains from the opposite direction
are tuning on'the same ling, you would-
Rush’ towards elther of the running trains and try to intimate the engine staff
about the probﬁhle accident.

64.

mﬁa%wauﬁﬁwﬁnwﬁlw%ﬁmﬁmw ferered T =
A

g g 3 i § 1 ¥ T 3 AT S S @ s 3 )

& % L BTTC{

* frar & Wi R T agw SrenT o S T ugel € agd W YO |

To the following question, four probable answers have been given. Select the most appropriate
alternative as the answer.

You are a guest at a dinner. The host asks you to take one more chapati after your stomach
is full. You would

politely say that the food was too good and you have already eaten much.

9 & NN4




65. 1S ToRe ST i GRAPHICS % IOCMJHER 3 &9 & shifed ferem simar 8, at seft e §f HOMELESS
1 hol e o s 2

JLOBNDUR

If in certain language GRAPHICS is coded as IOCMJHER, then how is HOMELESS
coded in that same code ?
JLOBNDUR

66. a‘ﬁanw@“r 12 5i¢ 7 2 e 31T o1g STl ©, Stelfeh 2ot Tl 8t 363&2&%%-&3&&%1%
TR IUET 12 &t 3Yeh B2 hl Tl § | S7Telt a1, wﬁ@ﬁﬂﬁmﬁ@m%a‘raﬁ"@w
U 1299, 135 RAi w ag

Wall clock gains 2 minutes in 12 hours, while a table clock loses 2 mmutes every 36 hours.
Both are set rlght at 12 noon on Tuesday. The correct time when’ th\h show the same time
next would be = & 8

12 noon, after 135 days

'-‘;j e

T (9. €T 67 T 68) ﬁﬁﬂﬁwﬁﬁq&qaﬂtmaﬁﬁqwgﬁ%wﬁq
s i A, B, C, D, E, F, GGﬂTH@aﬁﬁaﬁﬁaﬂIH@W‘aﬁ'%lB G3RDFf=Hdar g1 H,
B%a’r&@reﬁa‘(aﬁtA%aﬁ@raﬁmmh%m Aaﬂte%aﬁaaa%aﬂnaaﬂw@aaﬁa
IEEHCENEES

Directions (Q. Nos. 67 and 68) : Read the ‘informati'o'n given below and then answer the
questions that follow : ;

Eight friends A, B, C, D, E, F, G and"H:are sittifig in a circle facing the centre. B is sitting
between G and D. H is third to the-left. of B ahd second to the right of A. C is sitting between A
and G and B and E are not sitting opposzte to each other.

67. D%saﬁ@raﬂw#r%? :

F p. 4
Who is third to the left of B 7

68. ﬁﬂfiﬁaﬁﬁﬁrﬁﬁmwﬁqﬁr%‘?
/E F it D el deri |

Whlch of the followmg statements is not correct ?
“Eis s1tfmg between F and D.

69, B ST B & SACATRH 1w 30 FET SR T TUI-G13H feT & 30 Tt <heiel | 6k 0 |
g R it 30 whew s € | o, B ST R e 3 e R ST @ 42
o qﬁ
I walk 30 metres in North-West direction from my house and then 30 metres in South-
West direction. After this T walk 30 metres in South-East direction. Now, I turn to my

house, in what direction am I going ?
North-East :

NN4 10




TS STST A, B, C 3R D JH ol 3R S8 WA & | 125 FehetiHiet 3§ 9 TG oMM A 31K D et
3R I&d & Safeh fom B 3 C o8 3T 3gd € | 115 foprdt 3 e, fommr B afit ¢ ¥ ot g 3
S vl STetfeh farr A 3T D off 3T ST 3T IS 1Y | 316 848 ST6T A, B, D, C 3w fopar fawm
SERE?

s, ufir, o, wfdn
Airplanes A, B, C and D started flight towards east. After flying 125 kms planes A and D
flew towards right while planes B and C flew towards left. After 115 km; planes B and C

flew towards their left while planes A and D also turned towards thelr 1eﬂ In which
directions are the airplanes A, B, D, C respectively flying now ? ' '

East, West, East, West

i

FWRJT3W$ﬁwﬁ%iwﬁziiaﬂaﬁﬁzcﬂﬁmﬁ'1ﬁwgﬁﬁﬁQHIEﬁxuadT%|3ﬁﬁuﬁn¢3ﬁ13W$ﬁﬁﬁﬁ'
i?tﬁﬁ'aTEEﬁ?EﬁTEﬂ;ﬁ'znﬁn:i#:;nzzn'a:ﬁ$ﬁ%‘i#1ﬁﬂTﬂ'¥Fﬂ%Ii§l TR I STt 3 e & 78
GHEHE??JW#T%*ﬁTHﬁﬁﬂ?ﬁﬁfﬁ'ﬂ(?)%FIEHFIQTEﬁﬁFﬂT ?_?\x '

T ATH AT _

A 0o Ole A O

o Olo vi° SO .
@ @ B @D A

IR SATHTAT ’

C0

v L

The second ﬁgﬁi‘g: in theumt of the problem figures bears a certain relationship to the first

figure. Simiulzwz'rly, éne of the figure in the answer figures bears the same relationship to the
ﬁgure m the. second {init of the problem figures. You have to select that figure from the set
of, ansgg_/er ﬁgures which would come in the place of question mark (?).

_ Prohflem aFlgures

9 A O[O Ols , |A D
Yo oo vl [0
@ 3 @
Answer Figures
©0
v O

11 - . NN4




72.

T R T S e et % B8 WERI A U A, C H &S AN, AR B H a1 AT | E, C % o1 AV
3t D ¥ a1 ARSI, D, F o o AT R | UfRR 6 QT S T IS ey [ ol |

F,B
Of the six members of a panel sitting in a row, A is to the right of C, but lefl of B. E is sitting

left of C and right of D, D is sitting to the right of F. Find the members sitting at the two ends
of the row.

F,B

73,

frefafaa s d w1t § | mwmw%%wmﬁﬁmwﬁmwwwéﬁ
F oo gafy | S s ot afey 3 STt iRt |

M 1 T s 8 2

I AIRBIEE

. BRI T MA et seTr |
u&aﬁﬁmmﬁﬁ&mﬂméﬂ@meﬁuﬂwwéﬁ%mmﬂﬁ%l

Following question is having two statements numbered I and 1I. You have to decide whether
the data provided in the statements are sufficient to-answer the question. Read both the
statements and give answer.

Who is the father of M ?
I. A and B are brothers.
II. B’s wife is sister of M’s w1fe

If the data even in both the statements together are not sufficient to answer the
question.

74.

ST TH aﬂta’rmﬁqw%lwwaﬁtéﬁ%%@ﬁqwﬁwm%ﬁv
BEE W@%wm%miﬂm%? '
WU : :ﬁﬁﬁﬂﬁﬁ Gk Y Tt ST AT bl et HET ST R |
1L qﬁ?rafrém"r SRt Y SR, T Y T ST S T TR e ST € |
mﬁ@rnﬁﬁm%aua’m%l

You are given a question and two statements. Which of the statements is/are sufficient to

““Lanswer, the question ?

*._/Question : What is the colour of sunflower ?

" Statements :

I. Blue is called white, white is called red and red is called yellow.

II. Yellow is called purple, purple is called black, white is called brown and brown is
called orange.

Data in II alone is sufficient.

NN4




T8,

3 Wl YS! Ufd, Tedl 31T Ifeh sied shl 3ea sy 27 a9 off 31 5 oY usel Uedt 37T = o e
39 20 a9 off | afcr <t adar Mg B

40 99

The average age of husband, wife and their child 3 years ago was 27 years and that of wife and the
child 5 years ago was 20 years. The present age of the husband is : |

40 years

76.

STE-HYE o = SIS ¢ M & R 8 A forelt Torm & 0k 9 &, aa%@ﬁm%lamﬂﬁww
& |

CWX-AVZ

Four pairs of letter-cluster have been given out of w.hic‘h three are alike in some manner,

b

while one is different. Choose the odd one. £ Nulf

CWX-AVZ P

1.

5:20 THS hT S H TF ﬁmﬁﬁ%mwmwﬁml

40° (
Find the angle between the homj’“ﬁuéﬁé'iﬁnd the '}ninute hand of a clock at 5:20.
40° N, /

78.

7%,1941@@?111%%? -
& s

What was the day on 7 December, 19417
Sunday

79.

sﬁw 1993 ﬁﬁﬁwaﬂtmﬁrﬁmﬁmaﬁrﬁmﬁl 1997 ¥ Shl afviis WX i a1 =

_‘aﬁm N

2

On 5t December, 1993, Nirmala and Raju celebrated their anniversary on Sunday. What

will be the day on their anniversary in 1997 ?

Friday

13 | % NN4




80, T 1T TTT 1 7 e o o oG a1 1Y I AT 11 18U 1T & | AT9eht hel | df 715 efl STt 2l Tl
AT R, RET T Fseet ot weh aer e st ST e et f3h S & SRt T ekl waw W TR 1 Y
TS ST ohT STTET e & |
HYU : AR fosrl 6t HiAd ¢ W e |
fRreend :1. wfSswIT we ety aeg ol ST E |
1L @ wissrT el e @ |
TN 1 ST Y NI SATERT AT S | |
In question below is given a statement followed by two conclusions numbered I and II. You
have to assume everything in the statement to be true, then con31der the two conclusions
together and decide which of them logically follows beyond a reasonable doubt from the
information given in the statement. r '
Statement : Vegetable prices are soaring in the market
Conclusions :
1. Vegetables are becoming a rare commodityimms..
II. People cannot eat vegetables.
Neither I nor II follows.
81. Ueh s e T & o iRt &t fomehd — 1 aﬂtzﬁ@m% | STTTehT e T T HIHAT & FEY A8
alﬁrﬁaaw‘r@rﬁmsmﬁa@m% l ﬁﬂﬁqu%mﬁ FYAT IS o 570 & ki |/ Freawd
X*© f
T T ST Ll %/% 4 : \
oA ; Af< I8 Jfe R, a‘ra%*qﬁarﬁsehﬁml
e ;1. qﬁmﬁaﬁv?éﬁ%%uaﬁe&rr—r@m STETwH 7 |
2, aeqﬁmaiﬁvfa%m |
e 1 mm% 1
‘A statement is g1ven & then two conclusions — 1 & 2 are given. You have to consider the
o _statement as true though it seems to be different from the actual facts. Then give your
:‘zanswer fegardlng the given statement that which of the conclusion/s is/are followed by it
ploperly
Statement: If he is an intelligent, he will pass in the examination.
Conclusion:
1. It is required to be an intelligent to pass in the examination.
2. He will pass the examination.
Only 1 follows.
NN4
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82.

e war 3 o aTrRforil X, Y 3R Z 1 Tk B2 &, S H1IT 6 Tk gohe ohi HISH a6l 3hH alid
| o (Z) 30 alioh <! femamar & RTet 19 U TSt oht 1eT TR B § i ATl oh oG = Sat
arrehforat ) ¢ § o @ sl w Uelt TR T @ i 3TTeR( (Z) o et 8¢ T U werl Sferh
frereft-sperett &t |

X 4 zZ

o® %

The following question consists of a set of three figures X, Y apd-Z showing a sequence of
folding of a piece of paper. Figure (Z) shows the manner in W_hich the folded paper has
been cut. These three figures are followed by four ansWe_;‘_ ﬁgufes from which you have to

choose a figure which would most closely resemble the unfolded form of figure (Z).

X Y Z

0 & l‘

83.

e et 120 T 5% et e, st o 3o e 1 R e & e A o
it et 9 O e et RereTft B W 30 % | Tt firdhe e et ot o W 40 % |
SR AT U1 3HRhe e W STl o e Te T R 2

i LY

0ut of 120 students in a school, 5% can play all the three games Cricket, Chess and

" Carroms If so happens that the number of players who can play any and only two games is

30 The number of students who can play the Cricket alone is 40. What is the total number

of those who can play Chess alone or Carroms alone ?

44
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84. TIETIeTRad S oTT0E I ST&R h TEI L ST 3T RICITISAT sl STl & Sif Sraet Hi & Tiieh T SHellehil
TE:
m—ﬁﬁﬁ@/l‘lsyﬂ

C o ) Gi -
D\ E gl [ Doctor

AR [ Artist
B

In the following Venn diagram identify the letter which denotes players who are also
doctors but not artist :

/“N——f@ﬁﬁﬁf Player
gy ® ) G
D E giFet /Doctor

Herh L [ Artist
B

85. wam%ﬁﬁﬁmﬁﬁéﬂﬁ@(aﬁ?mmwwﬁrﬁ@@rg@q%mwmq@mmw%q
H%T 4 L N B
O _‘.‘-:_‘: J
S ECE T

o o

I aTeRfaEl

Which of the -foﬁbwing cube in the answer figures cannot be made based on the unfolded cube
in the question figure ?

Question Figure

O
X || % [EH

a o
a o

Answer Figures
(e

ma]))
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TYEeT (86-87) : A1) T T Sk 541 § Weh oheT @, (ST6oh o1 @Y ik 1 T I1 fg ¢ & | TR T T &
o 1 T ek T T & ST W AT ek € |

Directions (86-87) : Each question given below consists of a statement, followed by two arguments
numbered I and II. You have to decide which of the arguments is a ‘strong” argument and which is a

‘weak’ argument.
86. TR : T HIGHT Ueh Hard UfERAT ® ?

e« 1. &, e o o7 g o 37T T TR S S A |
1L e, 3ran fomer 3 Seaa Rt S st 3 SiTe TG o8 8 ST € |
afe =y adh 1 3T & [ A a8 |

Statement : Is learning a continuous process ?

Arguments :

I. Yes, there is so much to learn and we have so little time. 4

II. No, learning stops after one has obtained the highest degrees mthelr sub_]ect
If neither argument I nor II is strong.

87. WRYUA: wﬁwﬁmzﬂé@ﬂwm%%ﬁw%? |
a1 &, S0 T ST T TS € |
IL. aﬁﬁwﬁ%ﬁ@mﬁa’r{mmﬁﬂsm%l -
T AR T T ¥ |

Statement: Is buying things on instalments proﬁtable to the customer ?
Arguments :

I.  Yes, he has to pay less. . -

II. No, paying instalments upsets the famlly budget.

Neither I nor IT is strong o,
88. uﬁwga@rewzﬁa%mﬁwﬁramwm 7:9 &, Tie i 31 1 AT |
21 { :
Sachin is youngPr than Rahul by 6 years. If the ratio of their ages is 7 : 9, find the age of
Sachin. A %
214\ <
89, Tt o ﬁmﬁﬁga%?

20
How many triangles are there in the following figure ?

20
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9T (90-92) : T st 3 I A 3 for FeafRARars STt o eTeieh STeae i

ad B A, B, C, D, E, F 31 G Giar & e ae S1er-3fer o w1 2§ i st &, Sl 7l o6 et
ST B | TN U ST BTSN Sl a8, S wrtter, e, Ffivsf, ek, ae-ferame, sor S e,
sttt e for geft s e
Iwmmﬁwmmmﬁhwm%ﬁumﬁmﬁ%mamﬁhwm%u}ﬁﬁﬁmw%éﬁmwmmm
Eﬁmémﬁmﬁmmﬁo%wﬁ%aﬁﬁﬁ%Dammﬁmﬁmmﬁﬁﬁwwamaﬁﬁm
T8 | A TR SHET & ST STSOr 3 STTeY et B @ | e st e Tl Fra <iiem & |

Directions (90-92) : Study the following information carefully to answer these questlons

Seven friends A, B, C, D, E, F and G perform in stage shows on a different day from Monday to
Sunday, not necessarily in the same order. Each one performs a different item, viz, Music, Dance,
Mimicry, Play, Debate, Speech and Monologue, not necessarily in the same ordet.

B performs ‘Play’ on Thursday and E performs ‘Music’ on Sunday G performs ‘Mimicry’ but
not on Tuesday or Saturday. C’s performance is on the next day of G’s performance D performs
on Monday but not ‘Dance’ or ‘Debate’. A performs Monologue which is on the next day of
‘Speech’. ‘Dance’ is not performed on Saturday. A

90, T <RI HTT &7

F
Who performs Dance ?
F

01. Dmﬁammaﬁtﬁaﬁqmw%?
THUT — FHAR

Which item is performed by D and dn what day ?
Speech - Monday AW,

5

92. aﬁﬁaﬁﬁaﬁawﬁm% ?

c A QY
Who perfornié--.in Debate ?
C o

93, ‘aﬁ:é’rﬂéazawﬁmﬁAﬁeaﬁmam A et 4 o a1 Reew & 11 e % S IR Y
';mﬁa*rs‘m‘?
TQCUBAEDEDABEBAUCDBCADBDUBCACBEDA

T U

Ifall the A’s are dropped from the given arrangement, which of the following option will be
eleventh from the left end of the given arrangement ?
CUBAEDEDABEBAUCDBCADBDUBCACBEDA

U
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04, VW I 8 T T e Seh Ugt 6 T R AT b e A 3 A4 ¥ | W TR 8 2 2

68376849484368384593789
2

Count each 8 which is not immediately preceded by 6 but is immediately followed by either
3 or 4. How many such 8’s are there ? y
68376849484368384593789

2

95.

H= fRu g sraﬁqmw%ma‘rwﬁmﬂmaﬁé%&W@ﬁﬁr%ﬁéf%ﬁlﬁww%
a1 e ST g | mﬁqmwﬁwm%aﬂtﬁﬂﬁﬁmm%%ﬁw%ﬁaﬁﬁﬁﬁ

oY ¢ITTOTT She o STTER HI © | 3 39 TR
WU ; sﬁrﬁmﬁr%ﬁmmﬁm@m?ﬁwqﬁ Q‘qsqg'ﬂ
YTOTTY : 1, TTUZERR shY ohet AT U¥a ¢ | .
IL taﬁ%maﬁaﬁrg@a“rm@m \ 4
w&aﬁanurrﬁ‘laﬁnlamﬁ%a‘él

In the question given below a, statement is followed by two assumptions numbered I and IL.
An assumption is somethmg thatuis supposed or taken for granted. You have to observe the
given statement to be true a‘nd then judge which of the following assumptions holds valid

according to the statement lee answer as :
Statement: Do not copy our software without our permission — A notice.
Assumptions, I It is possible to copy the software.

: II Such a warning will have some effect.

If l)oth the assumptions I & IT are implicit.

96.

ﬁmﬁ?ﬁaam ST ¥ saTereh foieg (2) 3 ST U 37T =y ?

182
What should come in place of question mark (?) in the following number series ?

182
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97.

PreTTeTRae W1 7 e R 7T € AT g1 sheFll o ST (ooehy 1o ¢ & | foreareit st v 31 Tt et
it foR R e Freeret & & 9 @, G S ae sht St o gu R Te el o il w98
ST T 8 |
THY: FS T IR | FS II NG € | Tl ofeieh il & |
FAeene - 1. g@é@mwﬁl

I FOHATAE |

I aR S|

V. F® S e |

A 1 3LV STTERUT A & |

In the following question statements are given and these statements are followed by
conclusions. Read the conclusions and then decide which of the given: conclusions logically
follows from the given statements, disregarding oommon]y kniown facts.
Statements : Some questions are answers. Some answers are wrlters All the writers are
poets.
Conclusions :

I. Some writers are answers.

II. Some poets are questions.

III. All the questions are poets.

IV. Some poets are answ‘eré"-__{

Only I and IV follows.

98.

90 hl e HET W, wag%ma@aﬁﬁaﬁnﬁ% sfieR SR § =ded T T R, 9 ofter ¥ 10
et o €, ?ﬁga%aaﬁiaﬁﬁ WF@%%?

26

In a class of 90;_, where giﬂs are twice that of boys, Shridhar ranked fourteenth from the
top, if there a__re 10 girls ahead of Shridhar, how many boys are after him in rank ?

26" ;

99.

Waﬁ@ﬁﬁmﬁmwﬁ@%%lmmﬁmww%aﬁtmqﬁﬁ%
m@ﬂ%mﬁﬂéwm% | 93121T S uifes  arfirr % ard & o wore W g, ok @ feRaet gt

_gﬁrﬁ?

<

"Forty boys are standing in a row facing the North. Amit is eleventh from the left and

Deepak is thirty-first from the right end of the row. How far will Shreya, who is third to
the right of Amit in the row, be from Deepak ?

4th

NN4
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100 TT ST AEHT U foraTfeat apren & Forreft Rerar Sive aferdr o7 by < aifert & | Aferehr o et swrr &

8 & Sl ey s s dver & | Afirer e B i ¥ | o, St ot B e @, Gt @ femfea §
v Tur 3 o ST S ieht & | et e S Sfert 1 Al R | st S e o sffer . e
27

ALY S-S
Rama and Mohan are a married couple having two daughters named Smita and Deyika. Dev1ka
is married to Aman, who is the son of Madhu and Jeewan. Romila is the daughter of Aman:
Krishna, who is Aman’s sister is married to Sunil and has two sons Anuj and Ankur. Ankur is

the grandson of Madhu and Jeewan. What is the relationship between AHUJ and Romila ?
Cousins

WFT-3/Part-3 y
G STHHRI / General Awarenéss:.

101.

wm%%ﬂ%{%ﬁaﬁmﬁﬁﬁ@ﬁm%ﬁﬁmwﬁﬁmﬁﬂmwmm%
T, “epeRAt s e A TEHTER? { N

[GECEED

In which district of Uttar Pradesh ‘Mukhya Mantri'Kﬁnya Sumangala Scheme’ has been
launched for providing conditional cash transfers to glrl children at different stages of their
life 7 5%

Lucknow

102.

W%W@ﬁﬁﬁ%ﬂmﬁm%wﬁﬁmmﬁwmﬁww%?
HATEH

In which among the followmg stafes of India, has the world’s longest railway platform
been inaugurated ?:

/,'-"

Karnataka

103.

mmmﬁﬂa aq:mﬁ @awem) STTElaTS (HSTISTI) T TR I 7, d1 98
ateimawrﬁﬁ&ﬁ armafet # st Fme |
When Cash Reserve Ratio (CRR) is increased by RBI (CRR), it will
. Decréase money supply in the economy.

104.

| “"ﬁﬁ%@ﬂﬁ%‘fﬁﬁ?ﬁ%ﬂéﬂ&? oméeie i APPU (ufirem e dreeet FfHer) oht ST ST § 2

: W]:uch among the following countries takes charge of APPU (Asian Pacific Postal Union)

in Bangkok, Thailand ?
India

105.

Vet W 3 e ST 6 e E
ot o Tt at o foTg e STeer |

The meaning of “social equality” in the Indian Constitution is :
Equal opportunities for all sections of the societies.

21 _9 NN4
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106,  “frg Wifaen wrees feaer(aee 3R 3eU S) 2023 el HARIT T ?
20 wre
When was “World Oral Health Day” 2023 observed ?
March 20
107.  “wqfa e fy et wrn o T @ et 31
HigAsTast
“The Pashupati Seal” is found from site of Indus Valley civilization.
Mohanjodaro
108. fergeft STl st o6 Fwferfa & & fore T i foramedt 2 2
ITEUTTIE TE9T ,_
The Mishmi tribe is the resident of which among the following states of Indla ? )
Arunachal Pradesh
109. FreferRea @ forer oo o forey ot wert srer it v fora @ ? A
e ,.-5/ %
In which of the following states, world’s largest rlver 1sland is located ?
Assam : :
110. ﬁm%%ﬁﬁﬁﬁqmw&mﬁ@ﬁm% ?
TERT (FUTT)
Which of the following is the smallest bone in the body ?
Stapes '
111, T TS ?
What is laughing gas ?
Nitrous oxide -
112. ﬁw%@ﬁﬁﬁﬁqmﬁaﬁ:r amwﬁﬁmaﬁ%ﬁwh%%@m% ?
ﬁaﬁmn 12
Whigh.of _thi:_.__followmg vitamins, is important for the formation of red blood cells ?
/™. Vitaniin B-12
113. QA ok cprar o ferfar o ST Tt el sl fofer w1 & ST ST & 2
"““The plants, which grow under water stress conditions are known by which name ?
AV Xerophytes
114, © TR ST @ R T St e T & 2
O
Garo and Khasi are the associate official languages belonged to which state ?
Meghalaya
NN4
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115.

feferRad o O o a1 Teer 291 gee srer FEarTR & S adae § Rd H HRid § 2

NSDL
Which of the following is the first and largest depository presently operational in India ?
NSDL

116.

wefier wifererrT oh fomer o1l F et sht rfhert o el foper T 8 2
11eff ararsht :

In which schedule of the Indian Constitution powers of panchayats are stated P,
11" schedule

117.

e ftrg “wenfan il fora tsa @ Eeft@ R 2
TTELTT

World famous “Mathania Mirchi” belongs to which state?
Rajasthan

118.

TR RrehatT ol Tag & :

STETOT W ¥ g | T FIHT Wt HuS |
Kalamkari painting refers to :

A hand painted cotton textile in South Indla.

119.

T 1 WY A8 TGRS aqgeﬁﬁrsrﬁ%r ﬁwﬁm% ?
m%%-c:sss :

Which Artlcle of Constitution deals with Natlonal Comrmssxon for Scheduled Castes ?
Article 338

120.

ﬁﬁ%ﬁﬁﬁmﬁm%mﬁﬁa%
anféRrRre e feia,.

Which of the following i§’ the foundauon of fifth-generation computers ?
Artificial Intelligence . .

121.

a@(maﬁﬁﬂ%ﬁmﬁ@rﬁqaﬁ%aﬁw oT 7
ITRE-THER

Todar Mal was known as Whlch of the following ?
MuslmfF-I DIWﬂn

122.

GdT@rMa?quﬁﬁﬁﬁﬂﬁTﬁaﬁﬁﬁﬁ?wwﬁwﬁﬁmﬁﬁwm?

--"Whlch of the followmg was the most powerful Mahajanpada from 6™ to 14™ century ?

FullMark

5. ettt e e A

IEERIRERSI)

. Founder of Chola Kingdom was who among the following ?

Vijayalaya Chola

124.

TITERSA 1 F3r SFT < STLOT SFETENT STRICH 1 STEa fofat o1 7

Due to Wthh incident did Gandhiji call of the Non-cooperation movement ?

Full Mark
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125.

T e P 8 o e O e 8 7
IR Fed et

“Blitz” term belongs to which of the following sports ?
American Football

126.

g <hi el SerETfoTa, =Tt ed o i SHTe fohe 4o H fehan @ 2

Y
The first-ever automated, driverless train in the world has been unveiled in which
country ?

Germany

127.

STTYOT o Toreg, ST & shie &1 e wrireT e 2
STEQTAAT T Fvver

Right against exploitation does not include which prohlbltlon ‘? \
Prohibition of untouchability i .

128.

AT ITAR (EAfARad & O fore Usa 1 R & 2

ELLELC S
In which of the following states, is Dalma Sanctuary located ‘?

129,

Jharkhand \ W

ﬁ?ﬁ%ﬁiﬁ
Whose autobiography is “My Life” ?
Bill Clinton

130.

Wwaﬂ?mmﬁtﬁ%ﬂmmaﬁﬁw%?
AT

Which state of India does not touch any 1nternat10nai boundary ?
Telangana .

131.

%mu‘a’qrwﬁ aqﬁmam% a’a%

The planet havmg maximum rings on it, is :
‘Uranus

132.

%‘laTlﬂﬁ*vn @Eﬁ%’ﬂ frﬁiﬁn‘a'raﬁ arergtt, Sfid, e 37 fFretat o s 4 &, fobe Wit s o

_'tm?{r_srrm%'?

‘TGI'ITSI‘

;‘Hola Mohalla’ a festival, thatis all about warriors, bravery, victory, glory and

% fearlessness, celebrated in which Indian state ?

Punjab
133, Tormvircelt feraferemerr <t wemomT forer ety srfehear = &t off 2
LCIECIR RN
Visva-Bharati University was founded by which Indian personality ?
Rabindranath Tagore
NN4 24 s % =




134.

Freferfiaa & @ oo ar 3w Sl s1ectifess |t @a (NATO) %1 3 19T Hee s TR S 2

el
Which of the following countries has become the 31* member of the North Atlantic Treaty
Organization (NATO) ?

Finland

135.

BT B 3, 9 gy “warell” THeh Uk Hiargel STféer]-alieh e, =ureg gl ©1 gune! it
1 TS B | 3T TR T AR TR I R 2
IR T T I ST R

Recently, a mobile artillery-locating, phased array radar system named “SWATHI” has been
developed by India. What is the specific type of that Radar ?

Weapon Locating Radar

136.

freferfaa § ﬁﬁqmmmﬁﬁmmmmmmfmﬁaﬁ?m’m% ?
EQRIGIGRCEIE)

Which among the following rocks show change in forms by immense heat or pressure ?
Metamorphic Rock

137.

HEERA W%Hﬁﬁrwﬁwaﬁaﬁmq%ﬁmm—vﬁa%am forare o srgET
ﬁ%ﬂ*%wq{mwmﬁm%?

aTTesg 142(1)

Recently, The Supreme Court of India has gr@nted couples the right to divorce on the
grounds of “irretrievable breakdown of marriage” under which Article of the
Constitution ? :

Article 142 (1)

138.

ﬁaﬂansﬁarﬁamﬂ%sr maaﬁ@mamaamm%aaﬁ@mﬁ T

Amit Shahy the Umon Home Minister, presented the ‘Maharashtra Bhushan’ Award to
Appasaheb Dharmadhikarl for his notable work in which field ?

‘Social work

139.

mwmaﬁﬁm%ﬁaaﬁ%%qﬁuaﬁﬁmnﬁmﬁsﬁaﬁiﬁw%?

Tewmerer wew ofk TreTE

"% Bara-,lagha La Pass connects which two states/UT among the following ?

4 Himachal Pradesh & Ladakh

140

. T R A At e A S, b 4 S v S b

Tl T HoR TSI T R 2
wfea

“The Bhupen Hazarika Setu” also referred as Dhola-Sadiya bridge, is the longest bridge in
India over water spans on which among the following rivers ?

Lohit
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141.

frferfRar & & ot T ST HTeT e ATeet o i ST o] g o ?
TateroT (e stfirFem, 1986

Which among the following laws came into force soon after the Bhopal Gas Tragedy ?
The Environment (Protection) Act, 1986

142.

e & el et oh 1SRy s aht et B & forw dvam T 14 rere s AT e 2
oy &6 )

Recently, Indian origin Ajay Banga has been appointed as the 14 Pre&dent of which of
the following institutions ? '

World Bank

143.

ﬁmﬁrﬁaaﬁ%ﬁ?m%ﬂwﬁa%wﬁﬁwaﬂw%afmvﬁa@méw%?
sfteient

Which among the following countries is promotmg tourlsm targetmg India by identifying
sites linked to Ramayana ?

Sri Lanka

144.

forer a1 3 Siterehatell 3 “Tqw feiad ™ ar ‘ﬁmﬁ‘émﬁ’ ﬁ@a@m
ot

Which country’s researchers discovered the “Invisible Galaxy” or “Black Galaxy™?
Italy &

145.

tﬂ@tha“r?rﬁmuwﬁ “?s‘iFlGFI awﬁmm’ waﬁma&wﬁ"m ?

In which state PM:Modi virfually inaugurated “Jal Jan Abhiyan”?
Rajasthan

146.

ﬁﬂﬁf\@ﬂﬁﬁmmﬁﬁﬁwﬁﬁmﬁaﬁﬁwaﬁ{mﬁaﬁ?

p S
»

o \Xihlch éfnong the following states launched the “Mero Rukh, Mero Santati’-New Green
. Initiative?

Sikkim

147.

ST FETeR T S g e T / S R i g fov 2

CHEC]
“Operation SADBHAVANA” was launched in which state/UT by the Indian Army ?
Ladakh

NN4




148.

wreetter G = Ferefefier 3 & forer Troer 3 werd e “wifdfia wedier ea wonfir form 2 2
S A HIHR

The Indian Army installed the tallest ‘Tconic National Flag’ in which of the following
states ?

Jammu and Kashmir

149.

ahaa Tt <off g g de %ﬁm%l%aﬁﬁ%qwmth?ﬁamaﬂtammﬁ
G 1 off T SRt T TS ToT i wi 3gued fora 2
B

Union Minister “Shri Narendra Singh Tomar” inaugurated the seed proces_sing and storage
facility at Indian Grassland and Fodder Research Institute at which of the following
place ? '

Jhansi

150.

IR T TR« Wl Siear AT o d8d ﬁa‘r%ﬁ@w@aﬁaﬁaﬂ@aﬁm(onosx@
e, Weﬁ@ﬁ)ﬁwﬁasﬁﬁéﬁmhmﬁaﬁw%l

10

The goveminent of Uttar Pradesh has teﬂgéﬁ the consent of the Central Government to
change district-wise sports of .=~ districts under the Khelo India scheme to include them
in the ODOS (One District,-One Sport).

10 - ."_5: b -4
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